Problem A

About drunk gold digger


Source file: drunk.c, drunk.cc, drunk.pas

Problem

After the gold had been found in Vyšná Klondika the masses of unemployed Slovaks rushed to Vyšná Klondika to take and mark their small ground-plot. Stano, called Santo,  was one of the first gold diggers. After drinking the regional whisky he wouldn’t have reached his destination Vyšná Klondika without his loyal friend Bob, called Long Banto. At the place Santo looked arround by his skilled eyes and then commanded sober Banto to mark the area of his ground-plot by wooden dowels by: Turn right! Step! One more step! Turn left! Step! One more step! One more step! … The problems appeared just in the registration office in  Dolný Kelčov where they wanted to register their ground-plot. One of the most important information that was required was “Area of the ground-plot: …”. They could only remember (more precisely, Banto could remember) only the sequence of Santo’s commands. Santo said that it had to be easy to calculate the area because they knew that one Banto’s step corresponds exactly to 1 meter. 


Now they are still sitting in the one of the rooms in registration office and on the very small piece of paper they are trying to calculate the area of their ground-plot before someone else does it. The additional information that Banto remembers is that he didn’t cross his own way, that he finished exacly at the starting point, that the distance between him and Santo was never longer than 30000 meters and that the area of the ground-plot is smaller than 230 m2.

Your task is to write a program that will calculate the area of Santo’s ground-plot.

Input

The input consists of several blocks (the number of blocks is w). Each input block is given by one line terminated by end of line. Each line contains a sequence of integers – Santo'’ commands that are encoded this way: 

1 means “turn left 900”

2 means “turn right 900”

3 followed by one integer x (0 ( x ( 9) means “Go straight x steps”

The last line of the input contains only one number 0 followed by end of line.

Output

The output consists of w integers terminated by end of line. For each input block there is an area of the ground-plot marked by Banto in m2.

Sample input

3121132131132

35235235235

0

(The first sequence of commands: “Go 1 step!”, “Turn right!”, “Turn left!”, “Turn left!”, “Go 2 steps!”, “Turn left!”, “Go 1 step!”, “Turn left!”, “Go 2 steps!”. The second sequence: “Go 5 steps!”, “Turn right”, “Go 5 steps!”, “Turn right”, “Go 5 steps!”, “Turn right”, “Go 5 steps!”, “Turn right”.)

Sample output

2

25

